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ON THE INSIDE WHEEL-TRACKS OF AN AUTOMOBILE

(JSCE July 1950)

Masami Hivatashi, C. E. Member

Synopsis When an automobile changes its direction, the inside whegls describe various
curves according to the management of handle, speed of car and interval between
foreword and backward wheel. Especially, it is important factor how to manage the .
handle. T have induced here the equations of the curves deseribed by the inside wheels
on the assumption that revolution angle of the handle is proportional to n-power of
time, and then decided the values of » and proportional constant %4 with the records
and practical measurements. I explained about its applications, because the management
of an automobile would become rational it these curves were used to a street corner or

a hair-pin- curve.
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